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Feplaat (35175)

Feplaat (55275)

Feplaat (55375)

Fepl et (55475)

Rl et (35575)

Rl et (55675)

Feplxat (775)

b/ 4

IR B SRR RN T RE

SETRATHL LT A S

T RBR R A 2RI T R

L FELFINLTRE

FERIRENZ & (U B IR E 4) RGP RE




S M4ERE — # & & R ¥ $ 5 & (%
(B Af4F 48 1B £ SF054 3A31H )
REIS&EM
A o ( Bfr M)
K H A TR | AR TR | el - (A) fiii =]
1. 5% 210, 300, 000] 184, 300, 000 26, 000, 000
1.8 187,100, 000] 184, 300, 000 2, 800, 000
2.1 AHE 23, 200, 000 0 23, 200, 000
2.BEBET 5,000, 000 4, 800, 000 200, 000
EEGBELS|L HFER LESANRE 5, 000, 000 4, 800, 000 200, 000
.EEIRA 135, 900, 000 136, 400, 000 A 500, 000
L. fEEt 10, 400, 000 9, 800, 000 600, 000 |BRH, fiEae e P o fih 2 A AR E AR
2. FHEEE 4, 600, 000 5, 200, 000 A 600, 000158 5 #ERA 40k il
3. G R aat 91, 100, 000 90, 900, 000 200, 000 P, RELMA TR, Y A HE M
4. JREH 7, 600, 000 7, 500, 000 100, 000 |7t 1 45 46t
5. =GB FHEA 6, 600, 000 6, 700, 000 A 100, 000)LctE4y, FHAEES
6. = DA FFEIA 15, 600, 000 16, 300, 000 A 700, 000|AETEEIEFEZ
4 Tt 40, 650, 000 42,850,000] A 2,200,000
1. #iBh4 26, 850, 000 28,150, 000] A 1, 300, 000|450 ik 5 H= Bl Fg 2 [ s o 3
[#7] 16, 768, 000~
HiK 6 B 4 S 1 v 3 [RT7] 4,872,490~
H DS D RSP de
[##] 5,225,000~
2. Fitdx 13, 800, 000 14, 700, 000 A 900, 000 Hisk PE 34k = Bl ) i A& [#7] 1, 261, 000-
AN AR 3 8 A M OV 22 B ARG R S
[#] 8, 496, 000—
{%Q\Lﬁﬁ%ﬁﬁ‘%/\ [BE] 1,194, 000~
Reaw@ZEV YA 7 [Ap§] 351, 000-
SO A © PR IRIE F 2
[ApE] 2,517, 000-
5. HULA 100, 000 100, 000 0
L HE A 100, 000 100, 000 0
6. \BRAE 7,000, 000 7,000, 000 0
N 7, 000, 000 7, 000, 000 o)L it 6
1. 1&HE 85, 000, 000 80, 000, 000 5,000, 000
1. Mk 85, 000, 000 80, 000, 000 5, 000, 000
& H 483, 950, 000 455, 450, 000 28, 500, 000




XM oo E ( BAr M)
K TH H AR TR | Al T A | ERR -3(A) fi =
1.EB%% 243,700, 0001 210, 350, 000 33, 350, 000
1 — i F¥ERE 195, 800, 000] 165, 850, 000 29, 950, 000
1. H/ e ZE R L2 52,800, 000 25, 550, 000 27, 250, 000
2. GV S B 81, 100, 000f 81, 200, 000 A 100, 0008 = #HisE i
3. kB R 6, 500, 000 5, 200, 000 1, 300, 000
4. JRHE B 22,900, 000 21, 000, 000 1, 900, 000
5. {TFba T} 12,800, 000] 11, 800, 000 1,000, 000 U 4E AL fih
6. 2BV — U AEEE 11, 700, 000 13, 600, 000] A 1,900, 000)EiHBIEFEEL i
7.0 — 7 G ER 8, 000, 000 7, 500, 000 500, 000 &tk 4 . FHAE
2. BREF L 11, 300, 000] 10, 200, 000 1, 100, 000
1 e FHEE 11, 300, 000] 10, 200, 000 1, 100, 000
3. Eh 15, 000, 000] 13, 000, 000 2,000, 000
1.t 15, 000, 000] 13, 000, 000 2, 000, 000 | S FEE 2 FIE, BEQHREE
4. RS 16, 600, 000 16, 500, 000 100, 000
1. A E 16, 600, 000] 16, 500, 000 100, 000) & FEZ B H ¥
5. 1EE BIREAMRE 5, 000, 000 4, 800, 000 200, 000
L B AR BER R 5, 000, 000 4, 800, 000 200, 000
2. EBRE 133, 300, 000} 110, 500, 000 22, 800, 000
1. k5% 30, 600, 000f 31, 700, 000} A 1,100, 000
1. 4G 25,500, 000f 23, 400, 000 2, 100, 000
2. 56 FY 1, 800, 000 2,800, 000} A 1,000,000
3.HE 3, 300, 000 5,500, 000} A 2,200,000
2. (@RI E A 2 9, 000, 000 8, 700, 000 300, 000
Lt FE A 9, 000, 000 8, 700, 000 300, 000
3. RE A E 5, 000, 000 5, 100, 000 A 100, 000
Wi ity 5, 000, 000 5, 100, 000 A 100, 000
4. FB®E 42,500,000f 21, 500, 000 21, 000, 000
L. @AE 3, 600, 000 4, 200, 000 A 600, 000
2. O AR ZRE"= 2 8, 200, 000 7, 600, 000 600, 000
3. e 2 3, 400, 000 3,600,000 A 200,000
4. F % 1, 200, 000 1, 600, 000 A 400, 000
5. B e 2% 400, 000 400, 000 0
6. HL A PR Y 700, 000 1, 000, 000 A 300, 000
7. % DOfhGEE 1, 800, 000 3,100, 000] A 1, 300, 000
8. A IS 23, 200, 000 of 23,200,000
5. /KBS EGy fH 4 3, 600, 000 3, 600, 000 0
1. KB LBy L4 3, 600, 000 3, 600, 000 o|atE R it~
6. PRI 1, 200, 000 1, 200, 000 0
1. PRERE} 1, 200, 000 1, 200, 000 0
1. =t 7, 700, 000 5, 200, 000 2,500, 000
1. it 7,700, 000 5, 200, 000 2, 500, 000
8. N e 30, 600, 000f 30, 000, 000 600, 000
1 ANFRS P4 30, 600, 000 30, 000, 000 600, 000 [V BifhiE B, HpHSE fil
9. WS 3, 100, 000 3,500,000 A 400,000
1. oL 3, 100, 000 3, 500, 000 A 400, 000
. HEIE 3, 200, 000 3,100, 000 100, 000
LIRS 58 4 3, 200, 000 3, 100, 000 100, 000
R LB 5B &4 e 3, 200, 000 3, 100, 000 100, 000 iBIE#S 5- & &5 Y &t~
2. FrRIRE T 4 0 0 0
L. FehlFENL 4 0 0 OVFEBIFE S B3~




K H H AR T SR | Al A | PR - e (A) fii =1
4.#B3EE 71,400, 000] 100, 000, 000] A 28, 600, 000
N 55,600,000 89, 000, 000} A 33, 400, 000
PE BRI L MRS R 55,600, 000] 89, 000, 000] A 33, 400, 000/ MR ML L Ja R 8t S 42 2 B
A HER S =it
- F R BREEHLA 8, 600, 000 3, 300, 000 5, 300, 000
o 4 TR G AR A 8, 600, 000 3, 300, 000 5, 300, 000 |57 MR b s HEL A& it~
RS 7, 200, 000 7, 700, 000 A 500, 000
SRR S 7, 200, 000 7, 700, 000 A 500, 000]H: 7 FHHEAFE~
5. % 500, 000 500, 000 0
ey 500, 000 500, 000 0
R 500, 000 500, 000 0
6. P& 31, 850, 000 31, 000, 000 850, 000
. Tl 31, 850, 000f 31, 000, 000 850, 000
Tl 31,850, 000] 31,000, 000 850, 000
=) H 483,950, 000] 455, 450,000 28, 500, 000




(B 444 48 1B E SF054 3A31H )

BE IS &M
A o & ( HAr M)
K IH AR TR | AR T AR | PR - s (A) I =
1. X ft& 119, 000, 000] 119, 000, 000 0
1. #iBh4 118,500, 000] 118, 000, 000 500, 000 /MBI F it it SR 2 [ RIRF]
2. Bith 500, 000 1, 000, 000 A 500, 000/ AR E Rk AiiBh a3 [ B rd]
2.FBFERA 3, 500, 000 10, 800, 000} A 7, 300, 000
L. FHEIA 3, 500, 000 10, 800, 000 A 7,300, 0004 sk S « & I F—%55 8 fth
. BEAE 55, 600, 000 89, 000, 0001 A 33, 400, 000
1. A% 55, 600, 000 89, 000, 000] A 33, 400, 000]—HE£EF 75
& 5 178,100, 000] 218, 800, 000] A 40, 700, 000
X H o E ( Bz M)
K IH AR TR | AR T AR | PR - s (A) i =
1.5%%E 49, 000, 000 91, 800, 000f A 42, 800, 000
LR E SR S 7, 800, 000 7,700, 000 100, 000 fexmiFHRR AR B FTRRR RSt 25 Ml o 4
2. WURTE ML S B 41, 200, 000 84, 100, 000] A 42, 900, 000 fif—?@/ NHEE S R, L o-3< Y pEk
DAL RAEDNT =T,
AR - SR E
2. E1ERE 117,700, 000] 115, 900, 000 1, 800, 000
1B 64, 500, 000 62, 500, 000 2, 000, 000
2. #FY 10, 000, 000 10, 400, 000 A 400, 000
3. 85 24, 000, 000 24, 300, 000 A 300, 000
4. f&F R A 2 16, 000, 000 16, 000, 000 0
5. kB 22 IEE 2, 300, 000 2, 000, 000 300, 000
6. HHE 900, 000 700, 000 200, 000
KR Vi 11, 400, 000 11, 100, 000 300, 000
L IRERAG 5 E 4 11, 400, 000 11, 100, 000 300, 000 FEAs 5 & 45| M s Fh~
5124
& Hi 178,100, 000] 253, 600, 000] A 40, 700, 000




i RXPEE E

(B -S4 47 18 E SF54 37318 )
REBIEm
A O (HAr M)
s 5 AR TR | AT T AR | RS -3 (A) fi =z
1. 88 107, 600, 000 106, 100, 000 1, 500, 000
1. R 107, 600, 000} 106, 100, 000 1, 500, 000} &kt
2. 5 E 26, 000, 000 25, 700, 000 300, 000
1. 3% 26, 000, 000 25, 700, 000 300, 000§ 7 7> b 35 E
L. EREE 23, 000, 000 23, 000, 000 0
{FERAR 1 B s R 23, 000, 000 23, 000, 000 0
4. A& 9, 500, 000 9, 200, 000 300, 000
L. P e oy 3, 600, 000 3, 600, 000 o M &Ft 5
2. 7y MRS R 5, 800, 000 5, 500, 000 300, 000
3.7 Y NEM iR 100, 000 100, 000 0
5. #URA 900, 000 900, 000 0
1 HEA 900, 000 900, 000 0
6. iRt s 1, 000, 000 1, 000, 000 0
1. fli 4 1, 000, 000 1, 000, 000 0
& B 168, 000, 000 165, 900, 000 2,100, 000
X oo (A M)
K TH H AAEETHEA | arEE TR | sl -B(A) fisi %
1. HEFE 95, 300, 000 97, 000, 000 A 1,700, 000
L. R By 70, 600, 000 72,300,000 A 1,700,000
1. R ERE R 45, 100, 000 44, 500, 000 600, O00JPRF MR EFZLFE
2. BBk 18, 300, 000 20, 000, 000] A 1,700, 000
3. ARt 2,500, 000 3, 000, 000 A 500, 000
4. KB 3, 700, 000 3, 800, 000 A 100, 000
5. BB A i A2y 1, 000, 000 1, 000, 000 0
2. i 3, 500, 000 3, 500, 000 0
1. fifi i 3, 500, 000 3, 500, 000 0
3. f&hEt 20, 000, 000 20, 000, 000 0
1. &G 20, 000, 000 20, 000, 000 0
4. PRk} 1, 200, 000 1, 200, 000 0
L BB 1, 200, 000 1, 200, 000 Ok S LR ket
2. EBE 33, 600, 000 31, 600, 000 2,000, 000
L k52 26, 800, 000 25, 200, 000 1, 600, 000
L& 17, 000, 000 16, 400, 000 600, 000
2.56FY 2, 800, 000 2, 200, 000 600, 000
3. 5 7,000, 000 6, 600, 000 400, 000
2. tEHEAE 4, 300, 000 4, 000, 000 300, 000
L. e 2 4, 300, 000 4, 000, 000 300, 000
3. R R 650, 000 600, 000 50, 000
L. fit e A% e 650, 000 600, 000 50, 000
4. T 850, 000 800, 000 50, 000
L mEHE 550, 000 500, 000 50, 000Wi-Fiff Bl it
2. FHIHFEL LY 50, 000 50, 000 0
3. Fi % 200, 000 200, 000 0
1. SEH 50, 000 50, 000 0
5. SRR 1, 000, 000 1, 000, 000 0
1. [ E & FERL 1, 000, 000 1, 000, 000 0




Es TH H AEETEE | s TR | sy -E(A) fi =z

.FEIE 33, 200, 000 33,100, 000 100, 000
R 5B e 3, 200, 000 3, 100, 000 100, 000

5144 L ARG G- E e n | M4 3, 200, 000 3, 100, 000 100, 000Kk 5- & 45| Myt
SRR A 20, 000, 000 20, 000, 000 0

TESLA 1 SHHEREE SR E 20, 000, 000 20, 000, 000 O| & fE EEE SR LR
FERIAENL A 10, 000, 000 10, 000, 000 0

1. FeRIRE S 4 10, 000, 000 10, 000, 000 O BIRE S A2~

4. #E 200, 000 200, 000 1] |
L HEE 200, 000 200, 000 0
1. et 200, 000 200, 000 0
5. P& 5,700, 000 4,000, 000 1,700, 000
TR 5, 700, 000 4,000, 000 1, 700, 000
1. T 5, 700, 000 4, 000, 000 1, 700, 000
& H 168, 000, 000 165, 900, 000 2,100, 000




BRAaITs#Emm

A @ ( Hir H)
X IH AAERETREAE | BEE TR | - (A) fii =

(=N 20, 100, 000 19, 400, 000 700, 000

1. BEck 11, 600, 000 11, 400, 000 200, 000 |47 =Xkt

2. = DOEFZEIA 8, 500, 000 8, 000, 000 500, 000
2. 1A% 8, 600, 000 3,300, 000 5, 300, 000

1. H A4 8, 600, 000 3, 300, 000 5, 300, 000 —fE =37 5

& B 28, 700, 000 26, 000, 000 6, 000, 000
X H o ( Hir H)
& H AREFETHELE | AR TEEE | s -5 (A) i =

1. 518E 26, 100, 000 20, 200, 000 5,900, 000

1. 44 13, 500, 000 11, 200, 000 2, 300, 000

2. Ty 1, 800, 000 800, 000 1, 000, 000

3. B h 5, 300, 000 3, 300, 000 2, 000, 000

4. @R E AR 3, 300, 000 2, 600, 000 700, 000

5. ik 23 iy 400, 000 600, 000 A 200, 000

6. HHE 1, 800, 000 1, 700, 000 100, 000
2.FEiuE 2, 600, 000 2,500, 000 100, 000

L aBIAS 5845 Y4 2, 600, 000 2, 500, 000 100, 000 iRIEk#s 5- & &5 M it~

& B 28, 700, 000 26, 000, 000 6, 000, 000




(B /\%mﬁ 4ﬂ 15 = A$u5$ 3A31H )

REIS&EM
A o ( Bhr M)
K I AR TR | A TR | e - (A) fii =1
(=N 24,300, 000 21, 800, 000 2,500, 000
L. FHCkE 24, 300, 000 21, 800, 000 2, 500, 000 |45 1B HEk 4 3 7% 7, 680, 000—
G S EE IR R 9, 700, 000-
BV R A KA TRIR 3, 200, 000
PNUEDINE: = 1, 099, 000-
AN A ZE I 560, 000—
Hh I SEAR E B 1L 335 370, 000~
% D ARER I 1,691, 000~
2. 1A% 7, 200, 000 7,700, 000 A 500, 000
1. A4 7, 200, 000 7, 700, 000 A 500, 000]— & F 2D
& B 31, 500, 000 29, 500, 000 2,000, 000
X o ( Bhir M)
K H AREFETHEEE | AR TEAE | iy - (A) 1 =
1. EEE 28, 900, 000 27,000, 000 1, 900, 000
1. A 14, 600, 000 14, 000, 000 600, 000
2. 56 FY 2, 500, 000 2,000, 000 500, 000
3.HE 6, 000, 000 5, 500, 000 500, 000
4. 1@ R B A 3, 800, 000 3, 700, 000 100, 000
5. ik A 1w 800, 000 600, 000 200, 000
6. FH L 1, 200, 000 1, 200, 000 0
2. 2,600, 000 2,500, 000 100, 000
LRI 58 a5 Y e 2, 600, 000 2, 500, 000 100, 000 [iRIgk#G 5- & 45| B dh~
& B 31, 500, 000 29, 500, 000 2,000, 000




RAaITa#EA

A @ ( B M)
P H AAEETHEAE | iEE TR | i -k (A) fi =
1.514% 23, 000, 000 22, 300, 000 700, 000
1. 51 %4 23, 000, 000 22, 300, 000 700, 000 —f%x =505 3, 200, 000~
B R R R EASHN S
11, 400, 000—
SEEHSHD 3, 200, 000
TR FEHARE D 2, 600, 000—
HHFEESHID 2, 600, 000—
2. MUILA 200, 000 150, 000 50, 000
L. TAAFIE. 200, 000 150, 000 50, 000
3. gHE 153, 000, 000 131, 500, 000 21, 500, 000
1. bk 4 153, 000, 000 131, 500, 000 21, 500, 000
& B 176, 200, 000 153, 950, 000 22, 250, 000
X H o ( B M)
K TH AREFETHELE | A TEL | s -5 (D) i =
1. ERis5<€ 176, 200, 000 153, 950, 000 22,250, 000
L. BS54 176, 200, 000 153, 950, 000 22, 250, 000
=) H 176, 200, 000 153, 950, 000 22, 250, 000




RAaITa#EA

A @ ( ¥ H)
P I AAEETHEAE | iEE TR | i -k (A) fi =
1. 782 20, 000, 000 20, 000, 000 0
1. f§~r 4 20, 000, 000 20, 000, 000 O|&EEEHEHND
2. MUILA 250, 000 200, 000 50, 000
L. TAAFIE. 250, 000 200, 000 50, 000
3. 12 188, 100, 000 167, 900, 000 20, 200, 000
1. ik 4> 188, 100, 000 167, 900, 000 20, 200, 000
& B 208, 350, 000 188, 100, 000 20, 250, 000
X Moo ( ¥ H)
K TH AREFETHELE | AR TELE | s -6 (A) i =
1. ERE 208, 350, 000 188, 100, 000 20, 250, 000
L. EiEE 208, 350, 000 188, 100, 000 20, 250, 000
& B 208, 350, 000 188, 100, 000 20, 250, 000




BRAaITs#Emm

N2 ( Hir H)
P H AAEETHEAE | iEE TR | i -k (A) fi =
1.8 & 10, 000, 000 10, 000, 000 0
L. FENL A 10, 000, 000 10, 000, 000
2. MULA 2, 800, 000 1, 800, 000 1,000, 000
L. TAAFIE. 2, 800, 000 1, 800, 000 1, 000, 000
3. gHE 1,706, 000, 0001 1, 616, 000, 000 90, 000, 000
1. il 4 1, 706, 000, 000] 1, 616, 000, 000 90, 000, 000
& B 1,718,800, 000] 1,627, 800, 000 91, 000, 000
X o F ( Hpr H)
K TH AREFETHELE | AR TEEE | Hulsss - (D) i =
1. 128% 7,000, 000 7,000, 000 0
1. a4 7, 000, 000 7, 000, 000 o — x5t~ 7,000, 000—
2. s 1,711, 800, 000] 1,620, 800, 000 91, 000, 000
1. il 4 1, 711, 800, 000| 1, 620, 800, 000 91, 000, 000
=) H 1,718, 800, 0001 1, 627, 800, 000 91, 000, 000






